Please explain in your own words how the proof works.  

Please use words to describe the proof.

If you use a theorem, please state what it is and if possible, where you got it.
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(15 points) Let X be the set of all bounded real sequences. So a point € X can be written
as ¢ = {z1,%9, %3, ...}, where each z; € R. Also, for each x € X there is some positive real

number M such that |z| < M for all terms zy, of z.
For points = {z1, %2, z3,...} and y = {y1,¥2,¥s,...} in X, define

d(z,y) := sup |zx — yxl-
k>1

Prove that d is a metric. (Remember to explain why d(z,y) is finite!)




